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Eﬁﬁg TREOBHOEILADKRES TREDHEBSSLADKRES TREOBHOEILADKRES TREDHBBSSLHADOKRES
EE X 4 B2 | TFiwmhoDiER ADKRES X 4 ‘Fﬁﬁfafgax}@ ‘S | InKES X 4 B2 | LiEhookks ADKRES X 4 o ntts | Ba ADKRES
(m) (m) (kN/m) 6B (m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
’ 100kN/mM%#BZ % 1.00/ 000 ~ 153 123.27|3mZ#BRB| - ~ - - -| 100kN/mM%E#B 2% 1.00| 1054 ~ 1575 123.27|3m%#BZ 5 -~ - - -
ZTh st 1.00/ 153 ~ 931 100.00f Zhlist 000 ~ 931 235 12.60 ZTh LS 1.00] 500 ~ 1054 100.00f #n st | 500 ~ 1575 235 12.60
5 100kN/mM%#BZ % 1.00/ 000 ~ 1.51 122.98|3mZ#BRDH| - ~ - - -| 100kN/mM%E#B 2% 1.00| 1053 ~ 1556 122.98|3m%#BZ 5 -~ - - -
ZTh st 1.00/ 151 ~ 929 100.00f Zhlist [0.00 ~ 9.29| 238 12.76 ZTh s 1.00] 500 ~ 1053 100.00] Zhlist | 500 ~ 1556 2.38 12.76
3 100kN/mM%#BZ % 1.00/0.00 ~ 054 108.06[3mZi#BZDH| - ~ - - -| 100kN/mM%E#B 2% 1.00| 11.71 ~ 13.36 108.06[3m%#BZ % -~ - - -
ZTh st 1.00/ 054 ~ 833 100.00f Zhlist [0.00 ~ 833 245 13.09 ZTh LS 1.00] 500 ~ 11.71 100.00] Zhlist | 500 ~ 13.36] 245 13.09
4 100kN/m#%#BZ % - -~ - -|3mEEZS -~ - - -| 100kN/mM%#% % - -~ - ~-[3m%E#Bx B -~ - - -
ZTh st 1.00/0.00 ~ 7.51 96.07| ZhLls |0.00 ~ 7.51| 1.76 9.40 ZTh s 1.00] 500 ~ 986 96.07| Zhbkls | 500 ~ 9.86| 1.76 9.40
5 100kN/m%#B% % 1.00/0.00 ~ 0.79 111.79[3mZBRD| - ~ - - -] 100kN/mM%E#B 2% 1.00| 11.39 ~ 13.79 111.79|3m%#BZ 5 -~ - - -
ZThLst 1.00/0.79 ~ 857 100.00f Zhlist 000 ~ 857 2.41 12.87 ZTh LS 1.00] 500 ~ 11.39 100.00] Zh st | 500 ~ 13.79] 2.41 12.87
6 100kN/m%#BZ % 1.00/0.00 ~ 1.40 121.22|3mZ#BRS| - ~ - - -] 100kN/mM%#B 2% 1.00| 10.80 ~ 15.29 121.22|3m%#BZ 5 -~ - - -
ZThLst 1.00/1.40 ~ 9.18 100.00f Zhlist [0.00 ~ 9.18] 251 13.42 ZTh LS 1.00] 500 ~ 10.80 100.00] Zh st | 500 ~ 1529 251 13.42
7 100kN/mM%#BZ % 1.00/0.00 ~ 098 114.69|3mZiBRD| - ~ - - —-| 100kN/mM%E#B 2% 1.00| 1053 ~ 1352 114.69[3m%Zi#BZ 5 -~ - - -
ZTh st 1.00/ 098 ~ 876 100.00f Zhlist [0.00 ~ 8.76] 217 11.61 Zh LS 1.00] 500 ~ 1053 100.00] Zh st | 500 ~ 1352 217 11.61
8 100kN/m%#BZ % 1.00/0.00 ~ 086 112.84|3mZi#BRDH| - ~ - - -] 100kN/mM%E#B 2% 1.00| 10.60 ~ 13.24 112.84|3m%#BZ 5 -~ - - -
ZTh st 1.00/ 086 ~ 8.64 100.00f Zhlist [0.00 ~ 8.64| 213 11.41 Zh LS 1.00] 500 ~ 10.60 100.00] Zhist | 500 ~ 13.24] 213 11.41
9 100kN/m%#BZ % 1.00/0.00 ~ 1.03 115.50(3mZE#BRS| - ~ - - —-| 100kN/mM%#B 2% 1.00| 10.62 ~ 13.70 115.50[3m%#BZ 5 -~ - - -
ZThLlst 1.00/1.03 ~ 882 100.00f Zhlist [0.00 ~ 8.82| 225 12.07 ZTh LS 1.00] 500 ~ 10.62 100.00] Zh st | 500 ~ 13.70] 2.25 12.07
10 100kN/m%#B% % - -~ - -|3mEEZD -~ - - -| 100kN/mM%#% % - -~ - —-[3m%Ei#BZ B -~ - - -
ZTh st 1.00/0.00 ~ 7.51 96.00| ZhLlst |0.00 ~ 7.51| 298 15.95 ZTh LS 1.00] 500 ~ 1509 96.00| ZhLlst | 500 ~ 15.09| 2.98 15.95
» 100kN/m#%#BZ % 1.00/000 ~ 1.15 117.27|3mZBRS| - ~ - - -] 100kN/mM%#B 2% 1.00| 1053 ~ 14.09 117.27|3m%#BZ 5 -~ - - -
ZThLst 1.00/ 115 ~ 893 100.00f Zhlist [0.00 ~ 893 219 11.72 ZTh LS 1.00] 500 ~ 1053 100.00] Zh st | 500 ~ 1409 219 11.72
12 100kN/m%#BZ % 1.00/0.00 ~ 097 11456 3mZiBRSH| - ~ - - -| 100kN/mM%#B 2% 1.00| 10.97 ~ 13.90 114.56[3m%#BZ 5 -~ - - -
ZThLlst 1.00/ 097 ~ 876 100.00f Zhist 000 ~ 876 2.34 12.54 Zh LS 1.00] 500 ~ 10.97 100.00f Zhist | 500 ~ 13.90| 234 12.54
13 100kN/m%#BZ % -l -~ - -|3mZEBZB| - ~ - - —-| 100kN/mM%#B 2% - -~ - -|3m%EBZ5 -~ - - -
ZTh LSt 1.00/ 000 ~ 7.17 91.11| ZhLls |0.00 ~ 7.17| 264 14.11 Zh LS 1.00] 500 ~ 1210 91.11| ZhbLls | 500 ~ 12.10| 264 14.11
14 100kN/mM%#B% % -l -~ - -|3mZEBZB| - ~ - - -| 100kN/mM%#B 2% - -~ - -|3m%EBZS -~ - - -
ZTh st 1.00/ 000 ~ 6.14 7707 #h st [000 ~ 6.14] 288 15.43 ZTh LS 1.00] 500 ~ 1277 7707 Thils | 500 ~ 1277 2.88 15.43
15 100kN/mM%#B% % -l -~ - -|3m%E#E2%|000 ~ 022| 327 17.48| 100kN/m%# 2z % - -~ - -|3m%#2%| 1000 ~ 12.08| 3.27 17.48
Zzh s 1.00{0.00 ~ 404 50.61| ZnList | 022 ~ 404| 3.00 16.05 Lt 1.00f 500 ~ 12.08 50.61| ZnList | 500 ~ 10.00[ 3.00 16.05
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SERHMOMNE | BmES 020A0708 e \ BREYE | mEE —FA—FHEBBFERT
. SERMO FinlZBET 51 SMERH A
Eﬁﬁg TREOBHOEILADKRES TREDHEBSSLADKRES TREOBHOEILADKRES TREDHBBSSLHADOKRES
=] = U HVE E7 W HVE Il = = AV E = E AV = =5
&5 R 4 .z,na; ‘Finﬁb(z)wﬂﬁﬁﬁ jj(gr)\lj/kn%é X 4 ‘Finﬁﬂfé%z(ion;ki 'Z]né){ jj(g')\l:/knié X 4 ,(Er,né; J:.lﬁﬁfJ(:)U)J:hEl jj(g')\licnié X 4 J:.lﬁﬁfJ(:)o)ktlsl .z,n? jn(gigcnié
16 100kN/mM%#BZ % -l -~ - -|3mEBZB| - ~ - - -| 100kN/mM%E#B 2% - -~ - ~-|3mZEiBZ5 -~ - - -
ZTh st 1.00/ 000 ~ 575 7194 #h st [000 ~ 5.75| 281 15.02 Zh st 1.00] 500 ~ 10.38 71.94| #hilst | 500 ~ 10.38| 2.81 15.02
17 100kN/mM%#BZ % -l -~ - -|3mEBZB| - ~ - - -| 100kN/mM%E#B 2% - -~ - ~-|3mZEBZD -~ - - -
ZTh st 1.00/ 000 ~ 570 71.24] #h st 1000 ~ 570 2.21 11.82 ZTh s 1.00] 500 ~ 9.26 7124 #hbilst | 500 ~ 9.26] 221 11.82
18 100kN/mM%#BZ % - -~ - -|3mZEiB =% -~ - - -| 100kN/mM%#% % - -~ - -[3m%E#BZ B -~ - - -
ZTh st 1.00/ 000 ~ 6.96 88.28| #hList | 000 ~ 000| 1.71 9.14 ZTh LS 1.00] 500 ~ 869 88.28| #hList | 500 ~ 869 1.71 9.14
19 100kN/m#%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - ~-[3m%E#Bx B -~ - - -
ZTh st 1.00/ 000 ~ 6.90 87.37| #hList | 000 ~ 690| 1.79 9.58 ZTh s 1.00] 500 ~ 852 87.37| #hblist | 500 ~ 852| 1.79 9.58
20 100kN/m%#B% % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - ~-[3m%Ei#Bx 5 -~ - - -
ZThLst 1.00/ 000 ~ 6.65 83.92| #hList |000 ~ 0.00| 1.70 9.12 ZTh LS 1.00] 500 ~ 805 83.92| #hbList | 500 ~ 805| 1.70 9.12
91 100kN/m%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - ~-[3m%Ei#BZ B -~ - - -
ZThLst 1.00/0.00 ~ 6.37 80.08] #hList | 000 ~ 637| 1.82 9.72 ZTh LS 1.00] 500 ~ 755 80.08] #hList | 500 ~ 755| 1.82 9.72
99 100kN/mM%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - —-[3m%Ei#B2 5 -~ - - -
ZTh st 1.00/ 000 ~ 6.96 88.28| #hList | 000 ~ 696| 1.77 9.45 Zh LS 1.00] 500 ~ 863 88.28| #hList | 500 ~ 863| 1.77 9.45
23 100kN/m%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - —-[3m%Ei#Bx 5 -~ - - -
ZTh st 1.00/ 000 ~ 6.87 86.93| #hList | 000 ~ 6.87| 1.85 9.88 Zh LS 1.00] 500 ~ 860 86.93| #hList | 500 ~ 860| 1.85 9.88
100kN/m%#BZ % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZThLlst ~ ZHLS ~ ZTh LS ~ ZN LS ~
100kN/m%#B% % ~ 3ImEHEZD ~ 100kN/mZ#B 2% ~ ImERZS ~
ZTh st ~ ZNLS ~ ZTh LS ~ ZHN LS ~
100kN/m#%#BZ % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZThLst ~ ZNLS ~ ZTh LS ~ ZN LS ~
100kN/m%#BZ % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZThLlst ~ ZNLS ~ Zh LS ~ ZN LS ~
100kN/m%#BZ % ~ ImEHEAD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZTh LSt ~ ZNLS ~ Zh LS ~ ZNLS ~
100kN/mM%#B% % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZTh st ~ ZNLS ~ ZTh LS ~ ZNLS ~
100kN/mM%#B% % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZhLlst ~ Zh LS ~ Zh LS ~ st ~
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